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WA 20.5 EES 1.6 2,160 1,037 1,037 10l vay
IZALA 21.3 = 6.0 2,376 — 2,160 10 A M
ZIES5 3.3 BRE 2.0 3,024 — 2916 0] A M
ZIES5 5 0.9 - 2,376 — 0] A 3L
[E<ELY 114 ERE 11.1 - 1512 - 15 A 6
HTE 2.3 BRE 0.8 2,160 1,728 1512 4f A M
ZED 5.2 2 [ 3.2 1,620 1,404 1,188 4l A L
Fry 77.9 BRE 64.7 49 — 43 1
FrRY B X 35 - 1512 - 15[ A 8
IE5NAZES 4.0 2 [ 2.1 2,592 2,592 1,620 6] A L
hE 9.1 ERE 6.1 1,620 1,404 1,296 3l A L
_hE 1.8 = B 1.4 2,592 — 2,106 3 L
_hE BRE 0.2 648 432 378 05 A S
1Z5 2.9 X 7 1.2 — 3,240 — 5 A M
+)L)— 0.9 2 [ 0.6 3,672 — 3,456 0] A L
FARINTGHR 2.8
Hh)o257— 0.3 B X 0.3 3,024 — 2,376 4 6
Joyal)— 7.3 K & 0.9 7,560 7,560 5,400 6] vav L
LARZR 46.9 E & 30.5 1,620 1,296 1,188 10 12
FoTHA 1.5 2 [ 0.6 648 — 540 2 L
=Y 24.3 BRE 17.5 1,728 1,296 1,188 5/ A L
=p5Y ElG 6.1 2,160 1,512 1,512 5] A L
ANESSED) 9.6 BRE 2.3 4,320 2,160 2,160 0] A 6
Y 5.7 EES 5.3 - 648 — 5[ 13y
He BRE 0.2 - 1,944 — 4l A LL
d 18.7 BRE 14.3 1,404 1,188 1,080 4f A L
k2 B X 4.2 97 — 92 0.5 3
I=kTh 8.4 BRE 7.9 119 97 86 02 A M
E—<> 12.4 BERE 11.6 5,832 5,184 3,564 7.8 A M
ES5HACL 0.5 E X 0.2 3,089 3,089 2,808 4 LL
T35 0.4 BRE 0.4 270 270 194 0.3
IZH5Y 46 BRE 46 2,376 1,512 1,404 3l A L
SPVAITFA 0.5 BRE 0.5 2,700 2430 2,430 2
SPZAES 0.1 = B 0.1 3,888 3,888 2592 2 A
ZTHEDH 0.1 BRE 0.1 — 648 — 4f A S
MrAL& 2.9 E X 2.3 2,484 2,160 2,160 5 L
[EhiLs 42.9 £ % 26.1 2,160 2,106 1,728 10] vay L
[ECTRYNS £ B 2,160 - 2,052 10 vay LL
IEhiLs E 5 2,916 2,808 2,808 10] A L
IEhi s E 5 3,132 - 2970 0] A LL
[ECTRYNS BRE 16.8 — 1,296 — 0] A L
[ECTRYNS BRE - 1,080 — 0] A M
=N BRE - 2376 — 5
AL 7.3 5 # 7.0 3,456 — 3,240 0] ¢ LL
f=Fh&E 99.0 JtigE - — - PR
f=FEh&E = B 98.9 3,240 2,808 2,700 20 va9 L
IZAIZK 0.2 ol 0.2 — 540 — 1 4L
5oELD 15 BRE 15 5,400 - 5,076 0] A M
ELLV=T 1.4 BRE 0.1 — 108 - 01| M M
HELLV=IT =l 0.6 130 130 76 0.1 A L
ZDEET 3.9 K B 1.7 43 38 35 0.1 A
LHL 24 2 [ 2.3 103 86 86 0.2
ESES T 471.2
B=
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() ATT=®) (M) (kg)

HEDHMNA 2.9 BRE 2.9 1,944 1,620 1,404 10{ 7hv2 M
LEY 1.1 TA)H 1.1 10,260 9,180 9,180 17 115
INLUVT 1.6 TA)H 1.6 8,856 8,424 8,424 17 88
L7y 0.5 TA)H 0.2 6,588 — 6,480 15 48
HRE 1.1 =l 1.1 2,700 — 2,160 10 L
YATE 12.1
PEPE=IY 3.2 5 # 3.2 4968 3,672 3,240 10{ 74v1
AL 6.7 5 & 6.7 4698 4,320 1,620 10l Y1 A 36
U 0.3 ERE 0.3 194 — 184 0.4 M
SESE 0.1
W52 4.9 ERE 3.9 378 302 270 025 A L
AOVE 7.1
7—JLA 1.7 = A0 0.1 — 9,180 — 9.1 A 6
AHZ 0.6 BRE 0.5 — 4320 — 5/ A LL
FRAOL 48 BERE 3.5 2,646 — 2376 5/ A L
ERRYOY1s 9.0
ERAY 6.3 N 5.2 7,128 6,912 6,480 13] vay LL
CEETLVH 2.8 BRE 1.6 6,480 — 5,940 0] A 5
INFF 17.9 EYEY 17.5 3,996 3,780 2,970 15
NAFyFTIL 5.0 EYEY 5.0 2,916 — 1,836 10
FoA4T)LY 2.9 —oT 2.9 4,698 — 4,644 5.8 25
RERET 72.9




